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Midterm REVIEW 2016-17 (Chapters 1-4)

Evaluate each using the values given.
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Solve AND CHECK each equation.
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Simplify. Write in standard form.
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Draw a graph for each mequahty

5) =G g rewr : Q> %

TR . . S— n L.
<

N "
FH=5-4=3-2-1 0123 % 5 6 7

Open dot ~> N <

SOLVE each inequality. Circle the solution.

Then GRAPH its solution.
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Werite an inequality for each graph. Use the
variable "X"

5) it s

—7—6-5*47372710 l 2 34 & 6 7

n<b6

Llosed Dot

N\
N
\

k2

Remember: When Ml or



SOLVE each compound inequality. Circle the solution. Then GRAPH its solution.
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Solve each inequality and graph its solution. “ 2
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Find the slope of each line. Find the slope of the line through each pair of
1 points.
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Sketch the graph of each line using slope and
intercept. Clearly mark 3 points.
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Write the point-slope form of the equation to

Sketch the graph of each line using intercepts.
Label the x-intercept (X) and y-intercept (Y)
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Write the slope-intercept form of the equation to describe the following lines.
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Evaluate each function.
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Construct a scatter plot.

A) State if there appears to be a positive
correlation, negative correlation, or no
correlation.

B) Identify if the relationship is linear, or
non-linear.
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Sketch the graph of each linear inequality.
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Fit the Best Fit Line
a) Construct a scatter plot.
b) Find the equation of the line that best
fits the data (round 2 decimals)
¢) Plot the Best Fit Line on the scatterplot:

Label the y-intercept(Y);
Label 2 points with their letters.
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Clearly graph the lines to solve the system. Solve the system by graphing using the
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5x +8y=-32 b) Identify the solution on the graph and
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c¢) Check algebraically.
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Solve system by substitution. Then Check!
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Solve each system by elimination (if possible). Clearly show your work!!!! 0
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Simplify. Write "undefined" for expressions that are undefined.
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Solve the system using any method. Clearly show your work. Matrix Algebra Equation or solve
with elimination method.
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